

ON SOME FIXED POINT RESULTS IN EXTENDED STRONG b -METRIC SPACES

BADR ALQAHTANI, ERDAL KARAPINAR AND FARSHID KHOJASTEH

ABSTRACT. In this paper, we propose a notion of a strong extended b -metric space and investigate the existence and uniqueness of a fixed point of certain operators.

1. INTRODUCTION AND PRELIMINARIES

The advancement of metric fixed point theory is based on two ways. In the first way, the researcher refine the abstract space and investigate whether the well-known contraction types posses a fixed point. Second way is to extend, improve and generalize contractions types to guarantee the existing of a fixed point and, as a next step, to determine whether the existing point is unique. In this paper, we focus on the first approach.

We start to our discussion by recollecting the interesting generalization of standard metric space which was proposed by Bakhtin [8] and independently by Czerwik [9].

Definition 1.1. [8] *Let d be a function from the cross-product of non-empty set X to the set of nonnegative real numbers and $s \geq 1$ be a given real number. The function d is called b -metric if it fulfils the following properties:*

- (b1) $d(x, y) = 0$ if and only if $x = y$;
- (b2) $d(x, y) = d(y, x)$;
- (b3) $d(x, z) \leq s[d(x, y) + d(y, z)]$;

for each $x, y, z \in X$. In addition, the pair (X, d) is called a b -metric space.

It is a proper extension of a standard metric space. For $s = 1$, the definition of b -metric turns to be a standard metric. The notion of b -metric space has attracted a lot of attention of a number of researchers and it has been studied densely, see e.g. [1],[2],[6],[7],[11],[13] and the related references therein.

Very recently, in 2017, Kamran *et al.* [10] generalized the concept of b -metric spaces in the following way.

2000 *Mathematics Subject Classification.* 47H10,54H25,46J10, 46J15.

Key words and phrases. b -metric spaces; Extended b -metric spaces ; Extended strong b -metric spaces; fixed point .

©2018 Universiteti i Prishtinës, Prishtinë, Kosovë.

Submitted May 16, 2018. Published August 11, 2018.

Communicated by Janusz Brzdek.

Definition 1.2. [10] Let d be a function from the cross-product of non-empty set X to the set of nonnegative real numbers and $\theta : X \times X \rightarrow [1, \infty)$ be a mapping. The function d is called b -metric if it achieves the following properties:

- (e1) $d(x, y) = 0$ if and only if $x = y$;
- (e2) $d(x, y) = d(y, x)$;
- (e3) $d(x, z) \leq \theta(x, z)(d(x, y) + d(y, z))$;

for all $x, y, z \in X$. Further, the pair (X, d) is called an extended b -metric space.

Following this initial papers, it has been studied by several authors, see e.g. [3, 4]. Further, the above definition was slightly revised by Aydi *et al.* [?]. Indeed, the authors extended the domain of the function θ from $X \times X$ to $X \times X \times X$. In this report, the authors discussed the existence and uniqueness of certain operators in the context of this new abstract space. For the sake of completeness, we recollect the version of extended b -space of Aydi *et al.* [5].

Definition 1.3. [5] Let d be a function from the cross-product of non-empty set X to the set of nonnegative real numbers and $\theta : X \times X \times X \rightarrow [1, \infty)$ be a mapping. The function d is called b -metric if it achieves the following properties:

- (E1) $d(x, y) = 0 \iff x = y$;
- (E2) $d(x, y) = d(y, x)$;
- (E3) $d(x, z) \leq \theta(x, y, z)(d(x, y) + d(y, z))$;

for all $x, y, z \in X$. Moreover, the pair (X, d) is called an extended b -metric space.

Remark. For taking the third component zero, that is, $\theta(x, y, z) = \theta(x, y)$, the Definition 1.3 with Definition 1.2. If $\theta(x, y, z) = s \geq 1$, then the notion of an extended b -metric spaces coincides with the standard b -metric. Notice also that in general, extended b -metric spaces carry the topological problems of b -metric spaces. For instance, extended b -metrics need not to be continuous too. Furthermore, whenever we mention "extended b -metric" we have meant the notion introduced in Definition 1.3.

Example 1.4. Let $X = \{0, 1, 2\}$. Consider

$$d(0, 1) = d(1, 0) = 1, \quad d(1, 2) = d(2, 1) = \frac{1}{2}, \quad d(0, 2) = d(2, 0) = \frac{3}{2},$$

and

$$d(0, 0) = d(1, 1) = d(2, 2) = 0.$$

Take

$$\theta(0, 1, a) = \theta(1, 0, a) = 3, \quad \theta(1, 2, a) = \theta(2, 1, a) = 4, \quad \theta(0, 2, a) = \theta(2, 0, a) = 2,$$

and

$$\theta(0, 0, a) = \theta(1, 1, a) = 1, \quad \theta(2, 2, a) = 2,$$

where $a \in \{0, 1, 2\}$ It is straightforward to see that (X, d) forms an extended b -metric space.

We recollect the following example to indicate that the notion of extended b -metric is proper generalization of the notion of b -metric.

Example 1.5. [5] Let $X = \mathbb{N}$, define $d : X \times X \rightarrow \mathbb{R}$ by

$$d(x, y) = \begin{cases} 0, & \iff x = y \\ \frac{1}{x}, & \text{if } x \text{ is even and } y \text{ is odd} \\ \frac{1}{y}, & \text{if } x \text{ is odd and } y \text{ is even} \\ 1, & \text{otherwise.} \end{cases}$$

Note that condition (E1) holds trivially. Further, if x, y are both even or odd then $d(x, y) = 1 = d(y, x)$. Furthermore, if x is even and y is odd then $d(x, y) = \frac{1}{x} = d(y, x)$. Therefore, condition (E2) is satisfied. To verify condition (E3) we have to consider following cases for some function θ .

: Case i) when $x = z$ and y is even or odd.

Note that in subsequent cases $x \neq z$.

: Case ii) when x and z are even and y odd.

: Case iii) when x and z are odd and y even.

: Case iv) when x, z and y are all even or all odd. In this case it may happen that $y = x$ or $y = z$.

: Case v) when x is even, z is odd and y even. This includes the case $y = x$.

: Case vi) when x is odd, z is even and y is even. This includes the case $y = z$.

: Case vii) when x is odd, z is even and y is odd. This includes the case $y = x$.

: Case viii) when x is even, z is odd and y is odd. This includes the case $y = z$.

By taking

$$\theta(x, y, z) = \begin{cases} 0, & \text{if } x = z \text{ and } y \text{ is even or odd} \\ \frac{xz}{x+z}, & \text{if } x \neq z, x \text{ and } z \text{ are even and } y \text{ odd} \\ \frac{y}{2}, & \text{if } x \neq z, x \text{ and } z \text{ are odd and } y \text{ even} \\ \frac{1}{2}, & \text{if } x \neq z, x, z \text{ and } y \text{ are all even or all odd} \\ \frac{y}{x(1+y)}, & \text{if } x \neq z, x \text{ is even, } z \text{ is odd and } y \text{ is even} \\ \frac{y}{z(y+1)}, & \text{if } x \neq z, x \text{ is odd, } z \text{ is even and } y \text{ is even} \\ \frac{1}{1+z}, & \text{if } x \neq z, x \text{ is odd, } z \text{ is even and } y \text{ is odd} \\ \frac{1}{x}, & \text{if } x \neq z, x \text{ is even, } z \text{ is odd and } y \text{ is odd.} \end{cases}$$

One can check that condition (E3) holds. Therefore, (X, d) is an extend b -metric space in the sense of Definition 1.3.

Remark. Note that for $n \in \mathbb{N}$, by letting $x = 2n + 1, z = 4n + 1$ and $y = 2n$ we have

$$\frac{d(2n + 1, 4n + 1)}{d(2n + 1, 2n) + d(2n, 4n + 1)} = n.$$

Therefore, it is impossible to find s satisfying (b3). Thus d is not a b -metric on X .

Remark. Note that in the above example the function θ depends on all three arguments, x, y and z . Therefore, d is not an extended b -metric in the sense of Definition 1.2.

Example 1.6. [10] Let $X = C([a, b], \mathbb{R})$ be the space of all continuous real valued functions defined on $[a, b]$. Given $\theta : X \times X \rightarrow [1, \infty)$ as

$$\theta(x, y) = |x(t)| + |y(t)| + 2, \quad \text{for all } t \in [a, b].$$

Consider

$$d(x, y) = \sup_{t \in [a, b]} |x(t) - y(t)|^2.$$

Note that (X, d) is an extended b -metric space.

Inspired by [10], we shall state the following definitions.

Definition 1.7. Let (X, d) be an extended b -metric space.

(i) A sequence $\{x_n\}$ in X converges to a point $x \in X$ if and only if $\lim_{n \rightarrow \infty} d(x_n, x) = 0$.

(ii) A sequence $\{x_n\}$ in X is called Cauchy if for all $\varepsilon > 0$, there exists $N_\varepsilon \in \mathbb{N}$ such that for all $n, m \geq N_\varepsilon$, $d(x_n, x_m) \leq \varepsilon$.

(iii) (X, d) is said complete if every Cauchy sequence $\{x_n\}$ in X converges.

Remark. An extended b -metric does not need to be a continuous function.

Kamran *et al.* [10] proved the following result.

Theorem 1.8. [10] Let (X, d) be a complete extended b -metric space. Suppose that $T : X \rightarrow X$ satisfy

$$d(Tx, Ty) \leq kd(x, y) \quad \text{for all } x, y \in X,$$

where $k \in (0, 1)$ is such that for each $x_0 \in X$, $\lim_{n, m \rightarrow \infty} \theta(x_n, x_m) < \frac{1}{k}$, here $x_n = T^n x_0$, $n \in \mathbb{N}$. Then T has precisely one fixed point u . Moreover, for each $y \in X$, $T^n y \rightarrow u$.

Now, let Φ be the set of all continuous and non-decreasing functions $\phi : [0, \infty) \rightarrow [0, \infty)$ satisfying the following conditions:

$$\limsup_{t \rightarrow s^+} \frac{\phi(t)}{t} < 1 \text{ for all } s > 0.$$

We introduce a nonlinear contractive mapping in the setting of extended b -metric spaces as follows.

Definition 1.9. Let (X, d) be an extended b -metric space and $\theta : X \times X \times X \rightarrow [1, \infty)$. A given mapping $T : X \rightarrow X$ is called ϕ -contraction if it satisfies

$$d(Tx, Ty) \leq \phi(M(x, y)), \quad \text{for all } x, y \in X, \quad (1.1)$$

where $\phi \in \Phi$ and

$$M(x, y) = \max\{d(x, y), d(x, Tx), d(y, Ty)\}. \quad (1.2)$$

In this paper, we shall show that T posses a fixed point in the setting of extended b -metric spaces in the sense of Definition 1.3. Furthermore, inspired by the notion of "strong b -metric" of Kirk and Shahzad [12], we introduce the concept of "extended strong b -metric".

2. MAIN RESULTS

Theorem 2.1. *Let (X, d) be a complete extended b -metric space such that d is a continuous functional. Assume that $T : X \rightarrow X$ is ϕ -contraction. Suppose that there exists $x_0 \in X$, $\rho \in (0, 1)$ and a bounded sequence $\{\sigma_n\}$, $\lambda > 0$ and $\beta > 1$ such that for every $m, n \in \mathbb{N}$ with $n > m$ we have*

$$\theta(x_{n+1}, x_{n+2}, x_m) = \frac{1}{\rho} - \frac{\beta}{\rho n} + \frac{\sigma_n}{\rho n^{1+\lambda}}$$

where $x_n = T^n x_0$, $n \in \mathbb{N}$. Then, T has at most one fixed point u . In the case of existence of a fixed point u , we have $T^n y \rightarrow u$ for each $y \in X$.

Proof. For $x_0 \in X$, let $x_n = T^n x_0$. If for some n_0 , we have $x_{n_0} = x_{n_0+1} = T x_{n_0}$, then x_{n_0} is a fixed point of T . From now on, we assume that $x_n \neq x_{n+1}$ for all $n \geq 0$. On account of (1.1), we have

$$d(x_n, x_{n+1}) = d(Tx_{n-1}, Tx_n) \leq \phi(M(x_{n-1}, x_n)),$$

where

$$\begin{aligned} M(x_{n-1}, x_n) &= \max\{d(x_{n-1}, x_n), d(x_{n-1}, x_n), d(x_n, x_{n+1})\} \\ &= \max\{d(x_{n-1}, x_n), d(x_n, x_{n+1})\}. \end{aligned}$$

If for some n , $M(x_{n-1}, x_n) = \max\{d(x_{n-1}, x_n), d(x_n, x_{n+1})\} = d(x_n, x_{n+1})$, then

$$0 < d(x_n, x_{n+1}) \leq \phi(d(x_n, x_{n+1})),$$

Therefore,

$$1 \leq \frac{\phi(d(x_n, x_{n+1}))}{d(x_n, x_{n+1})}$$

and so

$$\limsup_{n \rightarrow \infty} \frac{\phi(d(x_n, x_{n+1}))}{d(x_n, x_{n+1})} \geq 1$$

which is a contradiction.

Thus, for all $n \geq 1$,

$$M(x_{n-1}, x_n) = \max\{d(x_{n-1}, x_n), d(x_n, x_{n+1})\} = d(x_{n-1}, x_n).$$

We deduce that

$$0 < d(x_n, x_{n+1}) \leq \phi(d(x_{n-1}, x_n)), \quad \forall n \geq 1. \quad (2.1)$$

Hence

$$0 < \frac{d(x_n, x_{n+1})}{d(x_n, x_{n-1})} \leq \frac{\phi(d(x_{n-1}, x_n))}{d(x_n, x_{n-1})}, \quad \forall n \geq 1. \quad (2.2)$$

Since

$$\limsup_{n \rightarrow \infty} \frac{\phi(d(x_{n-1}, x_n))}{d(x_n, x_{n-1})} < 1,$$

there exists $0 < \rho < 1$ such that for sufficiently large n we have

$$\frac{\phi(d(x_{n-1}, x_n))}{d(x_n, x_{n-1})} \leq \rho < 1.$$

It means that

$$d(x_n, x_{n+1}) \leq \rho d(x_n, x_{n-1}) \leq \rho^2 d(x_n, x_{n-2}) \leq \dots \leq \rho^n d(x_0, x_1) \quad (2.3)$$

Therefore, there exists $r \geq 0$ such that

$$\lim_{n \rightarrow \infty} d(x_n, x_{n+1}) = r.$$

Letting $n \rightarrow \infty$ in (2.3), we get

$$r \leq \rho r,$$

which holds unless $r = 0$. Thus

$$\lim_{n \rightarrow \infty} d(x_n, x_{n+1}) = 0. \quad (2.4)$$

We claim that $\{x_n\}$ is a Cauchy sequence. Using (2.3), for all $m > n$ we have

$$\begin{aligned} d(x_n, x_m) &\leq \theta(x_n, x_{n+1}, x_m)(d(x_n, x_{n+1}) + d(x_{n+1}, x_m)) \\ &\leq \theta(x_n, x_{n+1}, x_m)d(x_n, x_{n+1}) + \theta(x_n, x_{n+1}, x_m)\theta(x_{n+1}, x_{n+2}, x_m)d(x_{n+1}, x_{n+2}) \\ &\quad + \dots + \theta(x_n, x_{n+1}, x_m)\theta(x_{n+1}, x_{n+2}, x_m)\dots\theta(x_{m-2}, x_{m-1}, x_m)d(x_{m-1}, x_m) \\ &\leq \theta(x_n, x_{n+1}, x_m)\rho^n(d(x_0, x_1) + \theta(x_n, x_{n+1}, x_m)\theta(x_{n+1}, x_{n+2}, x_m)\rho^{n+1}d(x_0, x_1) \\ &\quad + \dots + \theta(x_n, x_{n+1}, x_m)\theta(x_{n+1}, x_{n+2}, x_m)\dots\theta(x_{m-2}, x_{m-1}, x_m)\rho^{m-1}d(x_0, x_1) \\ &\leq \theta(x_1, x_2, x_m)\theta(x_2, x_3, x_m)\dots\theta(x_n, x_{n+1}, x_m)\rho^n d(x_0, x_1) \\ &\quad + \theta(x_1, x_2, x_m)\theta(x_2, x_3, x_m)\dots\theta(x_n, x_{n+1}, x_m)\theta(x_{n+1}, x_{n+2}, x_m)\rho^{n+1}d(x_0, x_1) \\ &\quad + \dots + \theta(x_1, x_2, x_m)\theta(x_2, x_3, x_m)\dots\theta(x_{m-2}, x_{m-1}, x_m)\rho^{m-2}d(x_0, x_1) \end{aligned}$$

Choose for all n

$$S_n = \sum_{j=1}^n \rho^j d(x_0, x_1) \prod_{i=1}^j \theta(x_i, x_{i+1}, x_m).$$

We deduce that

$$d(x_n, x_m) \leq S_{m-1} - S_n, \quad \forall m > n. \quad (2.5)$$

Consider the series

$$\sum_{n=1}^{\infty} \rho^n d(x_0, x_1) \prod_{i=1}^n \theta(x_i, x_{i+1}, x_m).$$

Put $u_n = \rho^n d(x_0, x_1) \prod_{i=1}^n \theta(x_i, x_{i+1}, x_m)$. By assumption we have

$$\frac{u_{n+1}}{u_n} = \rho \theta(x_{n+1}, x_{n+2}, x_m) = 1 - \frac{\beta}{n} + \frac{\sigma_n}{n^{1+\lambda}},$$

and then applying Gauss test, the above series is convergent. Consequently, $\lim_{n \rightarrow \infty} S_n = 0$. Therefore, we get

$$\lim_{n, m \rightarrow \infty} d(x_n, x_m) = 0, \quad (2.6)$$

It means that, $\{x_n\}$ is a Cauchy sequence. Since (X, d) is a complete extended b -metric space, there exists $z \in X$ such that

$$\lim_{n \rightarrow \infty} d(x_n, z) = 0. \quad (2.7)$$

Since we assume that the extended b -metric is continuous, we derive that

$$\lim_{n \rightarrow \infty} d(Tx_n, Tz) = 0 = \lim_{n \rightarrow \infty} d(x_{n+1}, Tz) = d(z, Tz). \quad (2.8)$$

Regarding the uniqueness of the limit, we conclude that $Tz = z$.

We shall prove that z is unique. Assume that z and w two fixed points of T with $z \neq w$. By (1.1),

$$d(z, w) = d(Tz, Tw) \leq \phi(M(z, w)) = \phi(\max\{d(z, w), d(z, Tz), d(w, Tw)\}) = \phi(d(z, w))$$

which is a contradiction because $\frac{\phi(d(z, w))}{d(z, w)} \leq \limsup_{t \rightarrow d(z, w)} \frac{\phi(t)}{t} < 1$. So the fixed point of T is unique. \square

We state the following corollary.

Corollary 2.2. *Let (X, d) be a complete extended b -metric space such that d is a continuous functional. Let $T : X \rightarrow X$ satisfy*

$$d(Tx, Ty) \leq k \max\{d(x, y), d(x, Tx), d(y, Ty)\} \quad \text{for all } x, y \in X,$$

where $k \in (0, 1)$. Suppose that for each $x_0 \in X$ there exists a bounded sequence $\{\sigma_n\}$, $\lambda > 0$ and $\beta > 1$ such that for every $m, n \in \mathbb{N}$ with $n > m$ we have

$$\theta(x_{n+1}, x_{n+2}, x_m) = \frac{1}{k} - \frac{\beta}{kn} + \frac{\sigma_n}{kn^{1+\lambda}}$$

where $x_n = T^n x_0$, $n \in \mathbb{N}$. Then T has precisely one fixed point u . Moreover, for each $y \in X$, $T^n y \rightarrow u$.

Proof. It suffices to take $\phi(t) = kt$ for $k \in (0, 1)$ in Theorem 2.1 and desired result is obtained. \square

Remark. *Corollary 2.2 is a generalization of Theorem 1.8.*

3. EXTENDED STRONG b -METRIC SPACE

In this section, inspired by the notion of "strong b -metric" of Kirk and Shahzad [12], we propose the notion of "extended strong b -metric". The following definition have been designed such that the distance is continuous.

Definition 3.1. *Let X be a nonempty set and $\theta : X \times X \times X \rightarrow [1, \infty)$. An extended strong b -metric is a function $d : X \times X \rightarrow [0, \infty)$ such that for all $x, y, z \in X$:*

- (s1) $d(x, y) = 0$ if and only if $x = y$;
- (s2) $d(x, y) = d(y, x)$;
- (s3) $d(x, z) \leq d(x, y) + \theta(x, y, z)d(y, z)$.

The pair (X, d) is then called a strongly extended b -metric space.

Proposition 3.2. *Let (X, d) be a extended strong b -metric space such that such that d is a continuous functional and $\theta(x, y, z) = \theta(x, z, y)$, for all $x, y, z \in X$. Then, for all $p, q, r, t \in X$ we have*

$$|d(p, q) - d(r, t)| \leq \theta(r, t, p)d(t, p) + \theta(p, r, q)d(r, q). \quad (3.1)$$

Proof. By (a₃) of Definition 1.3 we have

$$\begin{cases} d(p, q) & \leq d(p, r) + \theta(p, r, q)d(r, q), \\ & \leq d(r, t) + \theta(r, t, p)d(t, p) + \theta(p, r, q)d(r, q). \end{cases}$$

So we have

$$d(p, q) - d(r, t) \leq \theta(r, t, p)d(t, p) + \theta(p, r, q)d(r, q). \quad (3.2)$$

Similarly,

$$\begin{cases} d(r, t) & \leq d(r, p) + \theta(r, p, t)d(p, t), \\ & \leq d(p, q) + \theta(p, q, r)d(q, r) + \theta(r, p, t)d(p, t), \end{cases}$$

and thus

$$d(r, t) - d(p, q) \leq \theta(r, p, t)d(t, p) + \theta(p, q, r)d(r, q). \quad (3.3)$$

Therefore, combining (3.2) and (3.3), and the fact that $\theta(p, q, r) = \theta(p, r, q)$ and $\theta(r, p, t) = \theta(r, t, p)$, one can conclude that

$$|d(p, q) - d(r, t)| \leq \theta(r, p, t)d(t, p) + \theta(p, q, r)d(r, q).$$

and this ends the proof. \square

Remark. *It is worth mentioning that if $\theta(x, y, z) = 1$ in inequality (3.1), then the resulting inequality is precisely the triangle inequality. This is because the relation $|d(p, q) - d(r, s)| \leq d(s, q) + d(r, p)$ implies (upon taking $r = p$) $d(p, q) \leq d(r, s) + d(s, q)$. Thus the triangle inequality holds.*

Lemma 3.3. *Let (X, d) be any strong b -metric space such that for every two d -convergent sequences $\{t_n\}, \{s_n\} \subset X$ respectively to $t, s \in X$*

$$\limsup_{n \rightarrow \infty} \theta(t, s, t_n) < \infty \quad \text{and} \quad \limsup_{n \rightarrow \infty} \theta(t_n, t, q_n) < \infty$$

Then, every open ball is an open set and so d is continuous.

Proof. Let $\{p_n\}, \{q_n\}$ be two sequence and

$$\lim_{n \rightarrow \infty} d(p_n, p) = 0 \quad , \quad \lim_{n \rightarrow \infty} d(q_n, q) = 0.$$

Thus, applying Proposition 3.2, we have

$$|d(p_n, q_n) - d(p, q)| \leq \theta(p, q, p_n)d(q_n, q) + \theta(p_n, p, q_n)d(p_n, p),$$

from which $\lim_{n \rightarrow \infty} d(p_n, q_n) = d(p, q)$. Thus, d is continuous mapping and so every open ball is open set. \square

Theorem 3.4. *Let (X, d) be a strong extended b -metric space. Then for all $m, n \in \mathbb{N}$ we have*

$$d(x_n, x_{n+m}) \leq d(x_n, x_{n+1}) + \sum_{j=1}^{m-1} \prod_{i=1}^j \theta(x_{n+i-1}, x_{n+i}, x_{n+m}) d(x_{n+j}, x_{n+j+1}) \quad (3.4)$$

Proof.

$$\begin{aligned}
d(x_n, x_{n+m}) &\leq d(x_n, x_{n+1}) + \theta(x_n, x_{n+1}, x_{n+m})d(x_{n+1}, x_{n+m}) \\
&\leq d(x_n, x_{n+1}) + \theta(x_n, x_{n+1}, x_{n+m})d(x_{n+1}, x_{n+2}) \\
&\quad + \theta(x_n, x_{n+1}, x_{n+m})\theta(x_{n+1}, x_{n+2}, x_{n+m})d(x_{n+2}, x_{n+m}) \\
&\leq d(x_n, x_{n+1}) + \theta(x_n, x_{n+1}, x_{n+m})d(x_{n+1}, x_{n+2}) + \dots \\
&\quad + \prod_{j=1}^{m-2} \theta(x_{n+j-1}, x_{n+j}, x_{n+m})d(x_{n+m-1}, x_{n+m}) \\
&\leq d(x_n, x_{n+1}) + \sum_{j=1}^{m-1} \prod_{i=1}^{j-1} \theta(x_{n+i-1}, x_{n+i}, x_{n+m})d(x_{n+j}, x_{n+j+1})
\end{aligned}$$

□

Theorem 3.5. *Let $\{x_n\}$ be a sequence in strong extended b -metric space and suppose that for all $m > n$*

$$\lim_{j \rightarrow \infty} \theta(x_{n+j}, x_{n+j+1}, x_{n+m}) \frac{d(x_{n+j+1}, x_{n+j+2})}{d(x_{n+j}, x_{n+j+1})} < 1$$

Then, $\{x_n\}$ is a Cauchy sequence.

Proof. By applying Ratio test and Theorem 3.5, desired result is obtained. □

Theorem 3.6. *Let (X, d) be the strong extended b -metric space and let $T : X \rightarrow X$ be a mapping. Assume there is $k \in (0, 1)$ such that for all $x, y \in X$*

$$d(Tx, Ty) \leq kd(x, y)$$

and for any initial point $x_0 \in X$, the Picard sequence $x_n = T^n x_0$, for all $m, n \in \mathbb{N}$ with $m > n$, fulfils in

$$\lim_{j \rightarrow \infty} \theta(x_{n+j}, x_{n+j+1}, x_{n+m}) < \frac{1}{k}.$$

Then, T has a fixed point.

Proof. Define $\rho : X \rightarrow \mathbb{R}$ such that $\rho(x) = (1-k)^{-1}d(x, T(x))$, for all $x \in X$. Then,

$$d(x, T(x)) - kd(x, T(x)) \leq d(x, T(x)) - d(T(x), T^2(x)).$$

Hence

$$d(x, T(x)) \leq (1-k)^{-1}(d(x, T(x)) - d(T(x), T^2(x))) = \rho(x) - \rho(T(x)).$$

Therefore,

$$\sum_{i=0}^{\infty} d(T^i(x), T^{i+1}(x)) \leq \sum_{i=0}^{\infty} [\rho(T^i(x)) - \rho(T^{i+1}(x))] < \infty$$

Also, for all $n \in \mathbb{N}$ we have $d(T^{n+j+1}(x), T^{n+j+2}(x)) \leq kd(T^{n+j}(x), T^{n+j+1}(x))$.

Thus, by the assumption

$$\lim_{j \rightarrow \infty} \theta(x_{n+j}, x_{n+j+1}, x_{n+m}) \frac{d(x_{n+j+1}, x_{n+j+2})}{d(x_{n+j}, x_{n+j+1})} < 1$$

Then, by Theorem 3.6, $\{x_n\}$ is a Cauchy sequence and so it converges to $z \in Z$. By the continuity of T , one can easily check that z is the fixed point of T . \square

COMPETING INTERESTS

The authors declare that they have no competing interests.

AUTHORS CONTRIBUTIONS

All authors contributed equally and significantly in writing this article. All authors read and approved the final manuscript.

ACKNOWLEDGEMENTS

The authors thank to anonymous referees for their remarkable comments, suggestion and ideas that help to improve this paper. The first and second authors extend their appreciation to Distinguished Scientist Fellowship Program (DSFP) at King Saud University (Saudi Arabia).

REFERENCES

- [1] H. Afshari, H. Aydi, E.Karapınar, Existence of Fixed Points of Set-Valued Mappings in b -metric Spaces, East Asian mathematical journal, volume 32, issue 3, 2016, Pages 319–332
- [2] U.Aksoy, E.Karapınar and Y. M. Erhan, Fixed points of generalized alpha-admissible contractions on b -metric spaces with an application to boundary value problems, Journal of Nonlinear and Convex Analysis, (2016). Volume 17, Number 6, 1095-1108
- [3] B. Alqahtani, A.Fulga and E. Karapınar, Contractions with rational expression in the extended b -metric space, Open Mathematics.
- [4] B.Alqahtani, A. Fulga and E. Karapınar, Non-Unique Fixed Point Results in Extended b -Metric Space Mathematics 2018, 6(5), 68; <https://doi.org/10.3390/math6050068>
- [5] H. Aydi, A. Felhi, T. Kamran, E. Karapınar, On nonlinear contractions in extended b -metric spaces
- [6] H. Aydi, M. Bota. E. Karapınar and S. Mitrović, *A fixed point theorem for set-valued quasi-contractions in b -metric spaces*, Fixed Point Theory and Appl., **2012** (2012), Article Id 88.
- [7] H. Aydi, M. Bota. E. Karapınar and S. Moradi, *A common fixed point for weak ϕ -contractions in b -metric spaces*, Fixed Point Theory, **13(2)**, (2012) 337-346.
- [8] I.A. Bakhtin, The contraction mapping principle in almost metric spaces. Funct. Anal. 30 (1989), 26-37.
- [9] S. Czerwik, Contraction mappings in b -metric spaces. Acta Math. Inform. Univ. Ostra. 1 (1993), 5-11.
- [10] T. Kamran, M. Samreen, O. U. Ain, A Generalization of b -Metric Space and Some Fixed Point Theorems, Mathematics 2017, 5, 19, doi:10.3390/math5020019.
- [11] E. Karapınar, H.Piri and H.H. AlSulami, Fixed Points of Generalized F-Suzuki Type Contraction in Complete b -Metric Spaces” Discrete Dynamics in Nature and Society, 2015 (2015), Article ID 969726, 8 pages
- [12] W. Kirk and N. Shahzad, Fixed Point Theory in Distance Spaces, Springer, Cham, 2014. <http://dx.doi.org/10.1007/978-3-319-10927-5>
- [13] M.A. Kutbi, E. Karapınar, J. Ahmed, A. Azam, Some fixed point results for multi-valued mappings in b -metric spaces, Journal of Inequalities and Applications 2014, 2014:126
- [14] S. Gulyaz-Ozyurt, On some alpha-admissible contraction mappings on Branciari b -metric spaces, Advances in the Theory of Nonlinear Analysis and its Applications 1(1),1-13 (2017), Article Id: 2017:1:1

BADR ALQAHTANI,
DEPARTMENT OF MATHEMATICS
KING SAUD UNIVERSITY, RIYADH, SAUDI ARABIA.
E-mail address: `balqahtani1@ksu.edu.sa`

ERDAL KARAPINAR,
ATILIM UNIVERSITY, DEPARTMENT OF MATHEMATICS, 06836, İNCEK, ANKARA, TURKEY
E-mail address: `erdalkarapinar@yahoo.com`

FARSHID KHOJASTEH,
DEPARTMENT OF MATHEMATICS, I.A. UNIVERSITY OF IRAN
E-mail address: `fr_khojasteh@yahoo.com`